PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS

Sunder Nagar, S.V. Road Malad (w), Mumbai 400064
ISO 9001:2015 Certified
Re-accredited by NAAC with 'A' Grade (III Cycle)

FYJC ANNUAL EXAM MAR/APR-2024
Day--—-{2 SEATNUMBER[_ [ [ [ |

-
2024, 3 28 1430 (H)

HINDI (04)
TIME: 3.00 Hrs. (6 Pages) Max. Marks: 80

J

GEATR-1 Y& & SR T, Ue o) 9 pforat  snasasary
SR SMepfadl 7 g 3R forgan dféra )
2.9t Sirpfadl & fong O &1 & maT Y|
3.3M1pfad! A IR 07 @ 9§ forgr smavuss & |
45181 fQURT 3 gt 1S il & I & R snepfdt Y smazgwar i 2|

o . a&%‘l{ml\ﬁng [2oai$a{[;ﬁf

1.(3( TR UGB GEATS & SR Fia Fiftre: [6]
1T 7 8T 7% O S o oS 364 8, S T Sora 4l aran arar 3 wel ge g ake
FTH T80 el Bl | 99 Tl B TR U 98 FLR-SR Ta1d 8 & S B 3R gl TeT e e
S8 T H 4 Sild frg R §1
mﬁa@aﬁﬂﬁwwmmﬁmmeﬁmmmmmﬂ,@amﬁhw,gnﬁ
gd a7 8 € T8 waeh b et a7 o1 ot 31 81 g anreedt et wame T Y e e 3
U 3 Y19 A 99 B AW B2

=it 3 et are) g G A A ot a1l 7% o @ g ¥ W% < A welwd ugt & Wi g Sy
g% HOTEA o @ @t 7 o Y T et o 3§ R Fiar v g e e e
SR B A7 39 e LT S|  Ueh A gl A Sl & 98 IR Ao F it swam A 2 o

§S GaT A $g1, ST IH gH fhe Hed 811 g9 al e Wi 2,

S A g1 el i 3 e §1 & o o ury i TEd §1 WA sieH) o @Y ware sar
Ul TER T G Q TEH /I

(1) il gof iferg: ,
TR H e gt & A

f) e e

i)

i

R) PR frRau..- . 5
%) SMEH! 371D @A 8,3 T8 I -ooveev i

R) T Ul & TGP BN —ormmemcemmeen

3) ST SS9 favg wR suA faur feif|u) 2
P 1. (oneTere vgwe § 7€ Yuerel ¥ srgur Pt gl #ifi 6]

TTRIIR:- )
TR U fa G G Bl TS gl o 8T o1 ARferi uepg | et & ot wh B e uTieed o

[ ae » SPquemns g S o Gt .t DI [ | S VI « WO o §




PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS

Sunder Nagar, S.V. Road Malad (w), Mumbai 400064
ISO 9001:2015 Certified
Re-accredited by NAAC with 'A' Grade (III Cycle)

FYJC ANNUAL EXAM MAR/APR-2024

Day--—--{2 SEAT NUMBER| | [T ]
i (2024) 3 | 28 1430 H) |
HINDI (04)
TIME: 3.00 Hrs. (6 Pages) Max. Marks: 80
- J

GEATE-1. G & SFOR T, U ) 9t il & snazaspars
3R [ 7 8 SR forg Srdfara B
2.9t [ & o1 O &1 @ mah o |
3.3 ! 7 IR U7 81 9§ g ofawues B
4.219RvT fQURT 3 gt 7S Pl & I & Y snpfydt Y smazgwar i g

1.(30( T UGB qa-sif & SR : 6]
1T 7 BT 7% A S o oS 364 8, S T Sora 4l aren arar 3 wel g g ake
FTH T80 el Bicil | 9 Tl B TR U I8 FLR-SR Teid 80 & S B 3R gl Tet e e
IS TR d Sl frg aRe §1
ﬁﬁﬁa@aﬁﬂﬁwwmwﬁmmeﬁmmmmmﬂ,@aw,sﬁw,qnﬁ
gd a7 48 € U8 waeh b et a7 o1 ot 31 81 g anreelt et wame ST Y e e @ )
U 3 Y9 A 99 B @ B2
=it 3 et are) g G A A ot ot 9% o @ g @2 9% < A P ugt & Wi 3 Sy
g% TG o @ @t 7 o Y T et s 3§ Rk Fiar v g Dfean e e
AR & 77 39 T 31 3T " U I Bl Ao Sl & 98 IR ol Q@ H svam a2
§S GT&T A HE1, SG O g fbwe H8d 8 g A geR Wi R, v
g9 5 BT gra1 Hife Y a7 761 31 & o oo urg i Tadl §1 W F el o Bl HaraT S
Al WER T Gl Q TEGH /I

(1) eirel qof iferg: ,

TR & oM uggel ¥ A

rmmmmeememmeee

i

R) PR fRau.- _ . 5

%) SMEH! 371D T8d 8,3 T8 IBM -oorenv .

R) T UG & TGP BN —ormmeecemmeen

3) STA SErell 39 fawyg R o feR faf|u) >

?ﬁl(a"m“mﬁﬂgmaﬁ*m?ﬁﬁqﬁaﬁﬁq [6]
TTEIIRT:-

U fa e WA Bl 1% gl ot g7 o1 Heferdi e | et & ot wb B el UTised

I°L
[oes » S S o (. P Tl TSI i | .. U « WO o %




Mﬁﬁrgaﬁﬁaﬁﬁwﬂ%lgﬁwﬁqgmﬁaﬁ?ﬁaﬁm% S gt @IS QT Fﬁﬁ

o R i 7 7l a% ugd oS |
uaﬁqmatrﬁma%l"@ﬁwwmwwmmwﬁ@wmﬁmﬁweﬁw

wﬁaﬁﬁ@nﬁﬁwﬁwuﬁmﬁmmﬁﬁﬁw&mﬁmﬁwmﬁﬁ i

sl a1
Wﬁﬁ%msﬁnﬁ%n@%ﬁwmww@,qwmwwﬂaaamn Fre
33 o QTR T 8 S 8. 1" 3

A A gl "D 0
G%ﬂﬁq%aamaﬁwaﬂmﬁaaamlaﬂﬂ-w a8 S @) TRl SIER o Il iR

n@'eﬁa%wmmahaﬂm@?m

q) HRUI AT ®)
) Al A Hgd B IR -
) Al P 3G G-

) S AT @)
1)71'&*%2“ ----- .
) Tl gpg STl Ul

a)e{rummqﬁ%maaﬁameauamﬁmwaﬂﬁm )

pial. G(ﬁﬂf%ﬂ%ﬂ%?msoﬁmowﬁﬁﬁﬁ%t{: YPIE 2) (6l

i(‘ms?am&ﬂeﬁmmﬁaiﬁqﬁ@mwamﬁwﬁﬁmwﬁmm
ii)qmmmwﬁwmmmm|
iy o > & o A feoudl fafem

T 1.ERnFaad memw-wmﬁwm:m{z] 2
i) 3 PFHIBRI P |
ii)ngmagamaﬁﬁasmeﬁaﬁﬁimﬁrﬁl ]
iii) 3 Fe@d R} & | . {
iv(ﬁﬁaweﬂaﬁmaﬁﬁﬁwﬁl .

4 S 8 &

R 2: T- [203{D]

qﬁz.(m(ﬁamﬁmﬂmﬂ"ﬁwﬁa‘ﬂﬂ“ﬂ?wm: 61 ¥

U
Gﬁﬁwmmlmﬁma@ﬁwﬁsﬁl 1 \
@WWWWIWWWWWI I
aﬂwnmﬁﬂsﬁmimmam@m |
A Bt R e | e e g SRR |
2y R wreg &Y ST | AT HIad Foriv|
e < gAfe Al | e gt |

g EoiTel ol I | R(
Q) ey & S HIS o

®)



2)

@)
6l

(6]

R(

®)

T g

W 8!

| 3R 99 WETS Uil § 989 &,

1 0% B G0 A e g Iy

TR TS oE 9% a¢ W,
 §DI1- IGHT 1P o,
3R P8l 3 T §H a1 g
EREHEEEUEE R
RS TEOwRA I Y

i) S ST -1 ST TR TG & FNfpomeeeee
ii( U9 gIDl-dad] dlepa o [ife

(T RIS T el R

FI 2.@(T § SR I F AMUR W IR F 131 &1 Wt SR

| 3fyar
- Fuffea g8t & snuR W @ ¥ Siadr 1 gRaeT S|
(ORTTBR ;- (2) T DI UKL (3) THE BT BRL- (4) Beid Hegm
G(wigaad e 1R s ve-uw areg § S Rl ydam )
| 1) Frfor wman & o9 da »iy
| 2) ¥d 15 & A Siia= &1 ey
3) yardt wifgw &t faLwa-
4( 3 TR R & =y

faum. 3: iy Sread- 1087w
Pia 3. i Frafaf@a vein wges § wf gamel ¥ s iR

@ Frafafea v ygee € 7 gamnsh & srar sfvat qof #ifm:

[6]

N

[6]



wRIS

PR AU Tydie § IR HgH Ugd A U SuR Uifsd i ara @t
T P GEgH (501 TDIsAS SME B DI A AT, 3 I
?m?w@m,aaﬁmﬁmmm

dePI g

it ST OF §AR U8 &S SRR $U T AT af HA U uf g
IS BT B B! 3BT TR $1| L¥ard # d 3a- gulied
el 4 Al 77 32 rgmn 77 JqaeH o, 79 &) @
| 5E S HEH TR Ufd ®1 $7g g8 35 A @) oRevd
TS}, 3 g NI & SR BTS I BIH T

TR
oie 1 BAR S9-UT &8 SR &Y TFIaT § 91 509 S1HH &1
&1 3T § |l BH 981 910 8] 1 98l % gA foigth @t S
&) 98 IS T@...2 71 89 3 ge@x suad & forg, figh
¥ forg gOR) o1 HaE 8] B 9. 2
ORIRAITELE 2
i(TRIRT § e 9y BT -
)Tl B g8 SAR T -
iii) O @Y g% STER BT ATH-
iv( o 19 @) =it @Y Yad Aar-

@) e =gt 7§ & Ol wsg gaas forfe: 2
iREaad  /IPaa /IPGEE /IHasH

Ty pitezee BA S £ | /e AR
(3) e ¥ THY BT AT 3 fawa wR 40 | 50 Wea) 370 fwR e 2

s, g Frafafaa ¥ IR so & 100 A3t & Rif@T: &g 4
i(‘TFAE P fou Qrefoies SR @t STaRydhdl, AICD & YR TR WE DI
i) o Ugwur 39 fawg wR fefam)

RAUTT- 4 : saraeTiv® &Y srufda werizy i wie wresgraeh [208i®]

a.(PrafaRa 13w T 100 | 120 3T # ffAw: ©)
%ﬁaﬁ%wﬁmﬂﬂiwwmwuﬁﬁf%mmmml
3ryar

TTEI=T:
%ﬁﬁwﬁﬁm%ﬁnww@@n@%sﬁaﬁﬁa.mlﬁmﬁ%mﬁ
- famoE! @Y HAR et B faftr fagrom &7 AR gHId 38d 81 ST 8 el 81 I 3T Sfid

W o g A Bl ISl WGP F IRY, Yad WA a5 Ardsiiep W, Ry wriwH,
STl 3 THH SEaeR IR fAFIUA &) el gt 1 3 faguH! & HIdRTEeR 81 7
Ha TaHEH & Sidkese @ 9 w9 R 39 &3 ¥ oFy &3 @1 gue F e wy §ga 9
%rgﬁzwaﬁgﬁaaﬁmﬂmmﬁmwnn%&nn,gaﬁu’r%am,ﬁrw ..... forgft
ot forerht & ae Wb 31 o T s @ Rme! 5711 arell ot el & T foa T § 159 &
ST BT ST TH & T oMU 39 e ¥ Gefdid Wi S U@ 91 & g | Fe pINd
P 8 a oY 39 &7 | A UL HHT THA § |

mmﬁmwa@ﬂ$wﬁwmﬁaﬁ%mwﬁ,' E
3R e % R wiet AR 1 HeT gR Wi §1 981 [l & TR, HaTe aEel, Tyl TR

N W VY. N V.. C{ S :#n&?cmﬁﬁ%‘mﬁmﬁ




R. TR & YR W Raa vl &t gfd Hifoie | R
¢ it ot vl §gd THEd! Ud Hg@yui © |

R TP JUNT P U H SHIB 1§ |

3. faeim wres; fafg R
g, §SIx

R. HfFHx

14- 3 Frafafla § 8 R e &199% 80 ¥ 100 W) # ol
iR Terear Ao BA H 3R, &1 TiTe 3Uq Xsa) | faf@u
ReH % & § e Hrwr 3 Areg| Q AR 3T Guraems fofee

3ryar
3 ue fee g are fre afufae:
1. T oA H Sl St HGR
3, IgATSD 3T, AP 3. JFBR
2. ¥ g 1 SR 3Ha P! Siaaewmar gt 8
3. Jr (1. & S 3. siarafl
3. TS BTG g
3, Al 3T, [T GG Gol
4. &0 1 &7 H TG 1 919 aren T g
3, AR 37, 3Tt 3. AR

=

¥ 4.5, SMufdd TN UgH &t 7 gEieil ¥ TR Pt guf Hiferg :
TP §R IR & o A TS 81 71 | SHPT Ry W A [har |
= 90 ASE O &) U1 AT HE A g1 ar ot fefdn,gd & e U .0 v o ¢
3 4T A &, HE I B a1 €, S gl § 9e 1 Sl §, TP YO §, A T frere ¢-
T IR HY | 19 A g4 781 Fad @a €, A S A I, wHRAS
7 B0 it 2 et R o ot gh | BTl Y T G T R O Bt T, SN ol g9 8 T €,
=8 307 il & 98 Sfbal He Ue ©0 9¢ B ol ¢ Sei ot o s Bl R ik 5w
= 0o ¥ §1¢ UH T 3 g2 @1, IR e Wrehl @1 A U ) 8 99 R Gt ) o ust | g fam
5% 3R e &1 ot wads wa g g digA Tl

TR e A H51 1 WIS H© a1 He? g THe A o T9 po & srdpen 8 oA A AT
2 3R 41 HTE T 78 ) WEPR B 91 ¥ | TH WG ST HTH P 0 9 O Ugand g1 MR A
1 T S g b SO UgHdl § R 450 U9 UH guR ®I ofifdd 1@d B
= BT T € HEPR HIG §1 3T 3 YA SR SEHR 3(UA-3U HIH # | I S g1
R 1 ¥, ae GHIS BT 81 g8t U U1 3T BT B §, A GHIS 31 Fwdl ¢ el ol !
e o RiferEr o Sl §1 3rd 98 §1d 9T § 3 R WgeR Hia T8l ¢, 98 T &1 [
IR S A Siia WiE T8 B4 B H18 USR8l 8

1. et guf S 2
ufieye ¥ e Ere vard & i faRag,
1

W




31 ) TS F1 Al 8|
¥ ) SIS I BT 8
W ) YA HI T 7
3. RIS Q WG gedR [aray: 2
1 2
w4.€ﬁqﬁﬁaz@ﬁﬁﬁﬁﬂm$%ﬁm&uﬁwwﬁﬁm 4
i. Credit Amount ii. Validity iii. Notification Iv. Registrar
v. Surveyor vi. Capital vii. Network viii. Account |

fRAYRT - 5 : ATHL- [1037]
qrﬁfs.(af(ﬁqﬁ@amﬁmaﬁwﬁﬁnfm%maﬁmwﬂaﬂﬂaﬂﬁmz

i. Al T} & I UR UgT| T FAHH BTl )
ii. 3T Y& Sitd ¥PA g YA HiTsIHTa
iii. J TR d B SR SHRREIRG 81 WA AdHhI
iv. B9 0 €} 319 U M1 e A AR HiqSI BT
ﬁs.m.mmﬁﬁmﬁmmﬁmwwm= 2
i, e el i, fo it 9 |
g 7T g AT A, SE) Hid AT TR
i AR, A3 TR g .
iii, 1 qH 30 313 HT? TR oY, ot fhag s

iv. TR TN ¢ THTA dear §g BTl
ﬁs.g.ﬁmmﬁﬁﬁawwmmmm: 2

i, 3feTeTl Sita+T 874 gl el
3ifga # & g9 R sife H ur

i AR AR E, S A THAE| |
SR T[T 3T S &) PITS! TS Hebell

o S B O
]%?ma. q@%aﬁﬁg@éwﬁl

v, TR TR Riy TR g e Hre B Sel-H |
Tt 3N 781 8, B ST, B STy Saral-H|

o 5. &, Prafrre geradt & & Reeh & a1 ord e avedt  wat fore: 2
i PISHAT ii. g # Yo" IHS
(L THORTREEA v, WS T B |

Q?ﬁrs.a.ﬁmﬁﬁﬂmﬁﬁ%ﬁﬂﬂahﬁﬁaﬁmmm: 2
1. 39 greR YEdol IR Ay 8 T
i, AfeweT 3 3 d 3E Bl @ T
1it, = A A AR & FAYE R JUas ¢
iv. A A e o 7 7l v e

T s ook o oo o o sk ok o o o




PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
Sunder Nagar, S.V. Road Malad (w), Mumbai 400064
ISO 9001:2015 Certified
Re-accredited by NAAC with 'A’ Grade (III Cycle)

FYJC ANNUAL EXAM MAR/APR-2024

SEAT NUMBER| | | | ]
[ )
3 28 1430
egistrar
Account FRENCH (13)
LTIME: 3.00 Hrs. (3 Pages) Max. Marks: 80

\ y

$2
Q1) A. Répondez aux questions en francais 10

1. De quelle Couleur est le drapeau frangais?

2. Nommez les quatre Saisons en France ?

3. Quels cadeaux vous offrez pour anniversaire?
1. Nommez deux musées en France?

5. Quels sont vos loisirs?

D1) B. Choisissez la bonne réponse 5

1. Le maillot est un des symboles du Tour de France.
g)rouge b)blanc. c)jaune

2. Avec la carte Navigo, on peut (can)
a) acheter les vétements  b) prendre les modes de transport ¢) entrer dans un musée

8. est une ancienne cathédrale a Paris.
a) Le Louvre. b)La Sorbonne c¢) Notre-Dame

4. est un musée a Paris.
a) Le Centre Pompidou  b)Le Louvre  ¢) L'Arc de Triomphe.

5. On organise le Marathon des Sables
a) au Maroc  b) en France c¢] au Canada

Q2) Grammaire

1. Conjugez les verbes. 8
- Michelle qu'elle aime beaucoup les traineaux a chiens. (Dire)

-Tu merci pour la journée de ski. ( Essayer)

- Nous que chaque flocon de neige est différent. (Partir)

- Qui que I'hiver est la plus belle saison? (Penser)

- Les gargons _ que la planche est mieux. (Voir)

- Christian de s'habiller chaudement. (Venir)

- Les filles qu'il fait froid. (Porter)

-Je  allé aux enfants qui glissent. (Ecrire)



- Luc sort sans_sa famille

- Les amies sont gentilles. 4

la
3. Completéz avec les adjectifs 6
- J'aime la fille . (Qualificatif) 4
- est la maison de M. Rou et étudiant est son favori. (Demonstratif) .
- est la saison de froid et ___vétements portez-vous? (Interrogatif) il

a
4, Faites comme indique '
A. Mettez au pluriel. 2 9
- L'autobus arrive. i
- La fille descend la gare de Lyon. 4

B. Mettez au feminin.
- 11 parle au professeur avec sérieux.
- L'homme Donne l'addition a ce gargon.

C. Mettez au négatif
-1l y a un chat sous le table.

D. Mettez au intérrogatif.
- Marc et Som vont a l'ecole en voiture.

E. Complétez avec les mots interrogatifs .
- saisons y a-t-il en France?
- ne vas-tu pas au pique-nique aujourdhui?

F. Complétez avec la forme correcte des prépositions.
- Mes parents habite Maroc mais mon frére habite Algérie.

Q3) Vocabulaire
A. Complétez les phrases.

1. et deux constructions modernes a Paris.
2. On célébre la féte de la Musique
3. Le premier jour de la semaine est

B. Que dites-vous.
1. Quand il pleut, Votre mere dit -
2. Vous achetez un pull, demandez le prix -

C. Reliez les colonnes.

A B
1. Comment payez-vous? a. Oui, je cherche une robe noir.
2. Ca fait combien b. Au grand magasin
3. Je peux vous aider madame c. En espéces
1 On trouve-t-on le parfum? d. Vingt-deux euros




Compréhension.
ianne et Muriel travaillent a Lyon. Elles font des projets pour un long week-end.
iel: Qu'est-ce qu'on fait ce week-end? Tu as une idée ?

ianne: Sortons de Lyon! On va a Brest ? I y a des sites touristiques variés... Chéteau de

st, Océanopolis, le Musée de la Marine.

iiel: Brest ? Mais c'est loin d'ici !

ianne: Oh, sois moderne! On prend un avion, c'est trés rapide.

iel: Mais c'est cher! Pourquoi pas Nice ? C'est une belle ville, n'est-ce pas ?

ianne: Oui, tu as raison [you are right]. Je veux visiter le Vieux-Nice, balader [ to stroll] sur
romenade des Anglais et sur la Baie des Anges...et il y a aussi un chateau avec un joli jardin.

el: Marianne, je réve déja ! C'est d'accord pour ce week-end. On prend le train. Et la
haine fois, [next time] c'est toi qui décides.

ochez la bonne réponse:
sort de Lyon pour:

indre visite a des amis b. le travail c. visiter une autre ville

Jites vrai ou faux:

arianne et Muriel travaillent & Paris.

a Baie des Anges se trouve a Nice..
arianne est bien contente d'aller & Nice.

¢pondez:
belle ville décide-t-on de visiter enfin ?
el moyen de transport choisit-on?

herchez dans le passage et écrivez: Un adjectif démonstratif

A. Traduisez en anglais.

6
eekend en France

eekend, on va chez les parents, chez les grands-parents ou chez des amis, ou bien, quand on
atigué aprés une longue semaine, on reste 4 la maison. Quelquefois (sometimes) on sort
 des amis. On va au cinéma ou au restaurant. On fait une promenade en ville ou 4 la

pagne. Les familles aiment aussi aller aux marchés en plein air.

B. Traduisez en francais.
feeling hungry.
ere is nobody in this classroom.

what time do you play tennis?

Essay - Les Saisons.

ale ale s als abs ol b wis sbe als e ls abe
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J
ill in the blanks ‘ 10
N stand for

is the command to prints the list of current directories in GNU/Linux.
DBMS record is also called as
e data type stores a fixed length of string.

¢ group of one or more columns used to uniquely identify each row is called

tag is used for to display horizontal line.
o merge two or more columns of table attribute is used.
he default method of submitting form data is __

is an event-driven language.

faining access without the users permission is know as

tate True or False 10

TB = 1023 PB.

opular IT enabled services centers are call centers.

able is the basic data storage unit.
ostgres and oracle server use SQL as standard database language.
here are six types of relationships in relational database design.
collection of interlinked webpages is called web browser.
inks are created by <a> tag.
ariable name can be limited upto 1000 characters.
legal use or break of login and password of other user is example of software piracy.

e it Act 2000 was amended in 2008.
Multiple Choice Single Answer 10

ogram or set of programs are called as

. Hardware b. Software ¢. Program d. Data

€ protocol is used for receiving email from remote mail servers.

. e e ~NE TS 1 Ty AT



e

5. The______ command is used to remove access right on the database object.
a. Cancel b. Revoke c. Grant d. Allow
6. The is a document type declaration that lets the browser know that it is a HTML |
document. |
a. <!DOC> b. <IDOCTYPE html> c. <!IDOCIS html> d. <!DOCTYPE>
7. Container tag is also called as tag.
a. Paired b. Combine c. Empty d. Standalone
8. The attribute specifies the path where the form is to be submitted.
a. Submit b. Action c. Path d. Table
9. The attempts to change outdated laws and provides ways to deal with
cybercrimes.
a. IPC b. Article 370 c. IT ACT 2008 d. IT ACT 2000
10. In , both the houses of the Indian Parliament passed the Information Technology Bill.
a. May 2002 b. June 2002 c. May 2000 d. June 2000
Q.4 Multiple Choice Two Correct Answer 10
1. Most widely used types of network architecture are and
a. Client-Server Architecture b. Server-Peer Architecture
c. Peer-Client Architecture d. Peer to Peer Architecture
2 and are the operating systems for personal computers.
a. DOS b. Android c. Blackberry d. Windows
3. and are applications of DBMS.
a. Credit Card Transactions b. IBM c. Universities and Colleges d. DB2
4. In DBMS and are the data type in text class.
a. Char b. Boolean c. Int d. Varchar
5. Using SQL you can and
a. Create new database b. Delete records from a database
c. Cannot delete records from database d. Cannot execute queries against a database
6. and are web servers.
a. Apache b. edge ¢. Chrome d. IS
7. The attributes of <img> tag are and
a. caption b. alt c. int d. src
8. The number of line and width of textarea are specified using and
a. Width b. cols C. TOWS d. height
9. and are example of cyber crime.
a. Fishing b. Cracking c. moral d. Hacking
10. Cybercrime is also called &
a. e-crime b. Cybercafe c. Cybercult d. hi-tech crime
Q.5 Multiple Choice Three Correct Answer 06

1. Following are relation operators:
a.> b++ c.>= d.= e. ==



Match the following 04

. Memory a. Bigdata
1. Operating system b. Hacking
. Firewall c. Asha
. Cybercrime d. Pendrive
| e. MS Office
f. Network security
g. Software

h. RAM and ROM

Answer in brief (Any 5) 10

. Manzoor got a call from someone pretending to be from his bank. The caller said his credit card
puld be blocked unless he shared details like the expiration date and CVV number. Mr. Manzoor didn't
ve any information and checked with Mr. Saroj, wino works at a bank. Mr. Saroj confirmed that it was a
audster trying to trick him.
. Did Mr. Manzoor do the right thing or not?
. If he had given his credit card details, what type of cybercrime would he have fallen victim to?
d out error if any in following JavaScript code
ar length ,breadth;
ength=4.5;
breadth=6;
ea=1/2*length*breadth;
ocument.write(“Area of triangle is”area);
at is Machine Learning (ML)?
plain peer-to-peer network.
plain Data Definition Language.
plain Keys in DBMS.
ite any 4 arithmetic operators in JavaScript.

plain Moral and Ethics.

rite appropriate Codes for the following 10
ite an HTML and JavaScript program to add two numbers
OR
ite an HTML and JavaScript programme to enter your age and check if you qualify for driving or not.

frite a program using HTML with following specifications.
. The background colour should be green.
. The heading should be large in size as 'P. D. Lions College’.
. Display a horizontal line after the heading.
. Display your name in Bold, address in Italics and standard as 11",
OR
ate a webpage with following specification.

1. Display heading 'Application Form' in highest heading with center alignment.
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Marks Obtained
AT NUMBER - -
Signature of Examiner
mature of Candidate
Signature of Invigilator
hoose the correct alternative and fill in the blanks: “4)
e first modern Olympic was held in the city of {(India, Greece, Nepal)
olding of the breath is . (Purak, Rechak, Retention)
et has a BMI of 29.9, so it will be classified as type of obesity (Over weight,
der weight, Normal weight)
e first Asian games was conducted in the year - (1949, 1947, 1951)
atch the following: 4)
A B Answer
et for strength 1. Vomiting A,
V Sindhu 2. Cricket B.
etic 3. Badminton G
hit Shrama 4. Milk D.
te the following statement are “True’ or ‘False’ : (4)
harm is caused to the body due to overuse if mobile. i
¢ are Total 12 players in Kabaddi game, 2
ling reduces fat levels and improve Balance and Co-ordination 3
ght of the Discus throw for Women is 2 kg 4
er the following Questions in one sentence. 4)

© any two name of Mudras?

¢ any two names of Bone injuries.




Q.5 Answer the following question in short.
a. What are the various activities for the developing fitness?

Ans.

b.  Write any six reasons of obesity?

Ans.

Q.6 Answer the following question in brief.

a. What are the side effects of doping?

Ans,

b. What are the preventive measures to avoid injury?

Ans.
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neral Instructions:

All questions are compulsory.

There are 6 questions divided into two sections.

Write answers of Section I and Section II in the same answer book.
Use of logarithmic tables is allowed. Use of calculator is not allowed.
Graph paper is not necessary. Only rough sketch of graph is expected.
Start answer to each question on a new page.

Section I
] A) Select and write the most appropriate answer from the given alternatives for each sub-question.
(1 mark each) [6]
Which of the following ordered pair represent function from A={1, 2, 3, 4} to B={-1,0, 1, 2, 3}?
(a) {(19 0)! (3a 3)9 (25 '1)9 (45 1): (25 2)}
(b) {(ls 2)9 (23 '1)’ (3: 1): (49 3)}
(c) {(1,3), 4, 1), (2, 2)}
@{@2,1),G, 1,4 1)}
The value of i® + i + i+ 1= N
(a) 1
(b) O
{c) i
il 4 2
The determinant of | 3 BI is
{a) 32
(b) 46
(c) 16
(d) 49
A set of points in a plane which satisfy certain geometrical condition (or conditions) is called a

(a) locus
(b) limit
(c) plane
(d) line
The value of lim [==2-] s
x=2L x—-2
(a)4
(b)2
()1
@0
) The derivative of x'2 w.r.t.x is
(a) 12




T e D S —

B) State whether the following statements are true or false. (1 mark each)[
D) Given g(x) = 22 if g(x) = 0, then x = 2

i) If ,i g[= 2’; g] then value of x is 2.

. [x+6] .
iii) The value of il_lg [T] is 3.

C) Fill in the following blanks, (1 mark each) [
i) The conjugate of 1 + { is
ii) If the locus y2 + 5x + 7y — 15 = 0 passes through (k, 0), then value of k is .
iii) The derivative of x5 + 3x* wish respect to x is

Q2. A) Attempt any two of the following questions. (3 marks each) |
DIff(m) =m? — 3m + 1, find
(@) £(0)
®) £(=3)
©f(3)
ii) Find the value of x for the following determinant, if
2 1 x+1
’-—1 3 —4 (=90
0 =5 3
iii) Evaluate the following limit;
. [x3-125
Ll_rfé 5-3125]

B) Attempt any two of the following questions. (4 marks each) [8
) If A(1,3) and B(2,1) are points, find the equation of the locus of point P such that P4 = PB.
ii) Evaluate the following limit: '
x+3

X==-3 IMJ
iii) Differentiate the following w.r.t. x

(a) x3logx

X

(b) =
Q 3. A) Attempt any two of the following questions. (3 marks each) [
i) Find the area of the triangle using determinant whose vertices are (0,5), (0,-5), (5,0)
ii) Obtain the new equation of the locus Xy —=2x—2y+4=0 ifthe origin is shifted to the
point 0°(2, 2), the direction of axes remaining the same,
1ii) Find the value of x and ¥ which satisfy the following equation (x,y ER).

(x+2y) + (2x—-3y)i + 4i = 5

B) Attempt any one of the following questions. (4 marks each)[4
DIff(x) =2x2+3, g(x) = 5x - 2 then find

(a) fog

(b) gof

ii) Find the square root of the complex numbers 7 + 24



Attempt any one of the following questions. ( 4 marks each)[4]
ind the value of x, y and z using Cramer’s rule.
1llx — y -z = 31,
x- 06y + 2z = —26,
x + 2y - Tz = =24

ution :
11 -1 -1
1 -6 2
1 2 =7

11(42 - 4) — (-1)(=7 = 2) + (-=1)(2 + 6)
11(38) + 1(-9) - 1(8)

18-9-8

31 -1 -1
e =|-26 -6 2
- l-24 2 -7

1(42 — 4) — (—1)(182 — 48) + (—1)(—52 — 144)
31(38) + 1(230) — 1(—196)
1178 + 230 + 196

1604
|11 31 -1
=1 -26 2
' 1 =24 -7
1 -1 31
=11 -6 -26
1 2 =24

; Cramer’s Rule

The cost of producing x articles is given by C = x? + 15x + 81. Find the average cost and marginal
t functions. Find marginal cost when x = 10. Find x for which the marginal cost equals the average
L.
lution :

e C =x%+15x + 81

w, the average cost function
¢ |
===

d marginal cost function = %xc- = 2x + 15.

(dC ) _
dx/y=10

= 35

us, the marginal cost is 35 when x = 10.

! RTINS ST TR §



i Section II

Q4. A) Seléct and write the most appropriate answer from the given alternatives for each sub-quesd

(1 mark each) [6]
i) The numuer of observations corresponding to particular class is known as the of tht
class. '
(a) F'Low total
(b) Column total
(c) Frequency ‘
(d) None of these '

ii) The coefficient of correlation lies
{a) has no limits
(b) can be less than 1
(c) can be more than 1

(d) om -1 tol
iii) If 1—0! 0, —_ E then nis
(a) i
(c) 4
@o

iv) If x = 0 and y = 0, then the common region lies in
(a) I Quadrant
(b) Il Quadrant
(c) III Quadrant
(d) IV Quadrant
v) If A and B are mutually exclusive event and P(A) = %2 and P(B)= 4,
and P(AUB) = P(A) + P(B), then P(AUB) =
() 1
(b) 0.8
©0
(d) 0 9
vi) Full form of GSTIN is
(a) Goods and Service Tax India
(b) Goods and Service Tax
(c) Goods and Service Tax Identification Number
(d) Non% of the above

\
B) State whéther the following statements are true or false. (1 mark each)[3]
i) The value‘ of 0! is 0.
ii) Karl Pearson’s coefﬁment of correlation can be obtained by the formula

\ nyxy—XxXy

| r=
| AZE -7 [nZyt - Ty
iii) A coin i§ tossed, then the probability of getting head is 1/3.

C) Fill in the following blanks. (1 mark each) [3]

i) GST payable = Qutput Tax -
ii) If » is zero, then correlation is said to be correlation.
|
iii) Formula for Permutation is "B, = L]
! (n-r)!
Q5.A) Attémpt any two of the following questions. ( 3 marks each)[6

i) A company dealing in mobile phones purchased mobile phones worth Rs. 5.00,000 and sold
same to customers at Rs. 6,00,000. Find amount of ITC and amount of GST if rate of GST is 12%.

D = P o P P e i i [Pon o n s WO S | I T [ [T, Lo ey oo




Attempt any two of the following questions.
Two dice are thrown simultaneously 25 times.
3) 2,5 5.5 &5 649 G, 2)
02) (4,1) 2,5 61 G (3,3)
3) 4,5 2,5 (.4 2.5 G9
5) 4,3) 5,2 45 4.3 @3

epare a bivariate frequency
stributions.

) Find the graphical solution of the following syst
x—y<02x—y=-2

1) Find correlation coefficient from the followin

( 4 marks each)[8]
The following pairs of observations are obtained.

ems of linear inequations :

g data, [Given : V3 =1.732]

L 1)
distribution table for the above data. Also obtain the marginal

) 6. A) Attempt any two of the following questions.
| Two cards are drawn from 2 pack of 52 ¢
(a) Both are black cards

(b) Both are ace cards
) Janhavi Gas Agency purchased some gas cylinders for Rs.
or Rs. 5,90,000. Find amount of ITC 5% GST is applicable.
i) Find the number of permutations of letters in the word ‘SH

3) Attempt any one of the following questions.
) Find n if 6p, =n. °C;
i) Find the graphical solutio
A A A
60+90 < 1,120+ 75.{- 1,y=0,x=0.

C) Attempt any one of the following questions. (Activity)
) From a group of 8 boys and 5 girls, a committee of 5 is to be

sommittee contains

ards. Find the probability that

ANTARAM’.

n of the following system of linear inequations :

(a) 3 boys and 2 girls
_ (b) at least 3 boys
Solution :
To select 5 from a group of 8 boys, 5 girls (total 13)
n(s) = 3Cs
(a) Let Event A : To select 3 boys from 8 boys and 2 girls from 5 girls
n(d) = %C3 %
_ n(4) Be, X 2Cy
Ao

(b) Let Event B : To select 5 persons consisting 0
Committee can have 3 boys and 2 girls or 4 boys and lg
2 n(B)=( °C; x °C) +(

P = 75) =

f at least 3 boys.
irl or all 5 boys.

fC, x BCy) +

( 4 marks each)[4]

( 4 marks each)[4]
formed. Find the probability that the

n(B) _ (°Cs x 5¢,) +( %€y x °Cy) + Bce

| 3 6 2 9 5 ]
4 5 8 6 7 |
( 3 marks each)[6]

5,00,000 and sold them to the customers



ii) Following data gives height in cm (X) and weight in kgs (Y) of 20 boys. Prepare a bivariate
frequency table taking class intervals 150-154, 155-159...etc. for X and 35-39, 40-44...etc for Y. A

find
(a) Marginal frequency distributions for X.
(b) Marginal frequency distributions for Y.
(152, 40) (160, 54) (163, 52) (150, 35)
(154, 36) (160, 49) (166, 54) (157, 38)
(159, 43) (153, 48) (152, 41) (158, 51)
(155,44)  (156,47)  (156,43) (166, 53)
(160, 50) (151, 39) (153, 50) (158, 46)
Solution :

Let X : height in cms
Y : weight in kgs

X 150 - 154 155-159 160 — 164 165 — 16§
Y

35-39 ] | - -

40-44 1 1] - -

45-49 | b | --

50-54 | | 1] |

The bivariate frequency distribution table is
X 150 - 154 155 -159 160 — 164 165 -169
\

35-39 3 1 - -
40-44 2 . - -
45 —49 1 1 -
50 - 54 1 1 3 2

Total 7 7 4

)
(a) Marginal distribution for X (height in cms)

X 150 - 154 155-159 160 — 164 165 - 169
fx 7 7 4
(b) Marginal distribution for Y (weights in kgs)
¥ 35-39 40 — 44 45-49

£ 4 5 4

EEEEEEEEE L L L
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Select the correct answer from the options given below and rewrite the statements, 5)

he resolution passed by 75% of majority is
Special b) ordinary  c¢) rotation
pral Meeting must have a notice of at least days.
b)21 ¢)14
proposal accepted in meeting is called
motion  b) resolution c) proxy
Bank provides overdraft facility to accountholder.
current  b) saving ¢) fixed deposit
is responsible for registering companies.
b) SEBI ¢) Auditors

resolution.

dtate whether the following statements are True or False. &)
A letter without signature is incomplete.

Annual Report is prepared by members.

nside address gives the name and address of the sender.

A director can remain absent for any number of Board Meetings.

Bank account of company is operated by shareholder.

rite a word or a term or a phrase which can subs
An elected representatives of shareholders,
A written invitation given to the Director to attend the meeting
company officer who is required to draft the minutes of the meeting,.
egotiable Instrument which can be discounted with the bank.

Drganization responsible for administering Companies Act and regulating professionalbodies
¢ ICAL ICSI, etc.

titute each of the following statements. (5)

Arrange in proper order. 5)
) Drafting Minutes

Sending notice

onfirming quorum

) Heading
omplimentary close
ubject

) Enclosure

Body of letter

i Mntion

I



Q.1 Explain the following concept. (Any 4)
1. Ordinary resolution

2. Motion

3. Quorum

4. Ministry of corporate affairs

5. Business communication

6. General Meeting

Q.2 Study the following case/situation and express your opinion.(Any 2)

1. XYZ Ltd held its Annual General Meeting on 11th May 2018. On 1st June Mr. X, a Dlrectorof
company was arrested for a financial scam. Hence the shareholders of the company want to remo#
him.

a) Can the company call for the next Annual General Meeting to be held immediately toremove
the Director?

b) Which meeting of members should the company hold to discuss removal of the Director?

c) What type of resolution will be passed in this meeting for removal of the Director?

2. A General meeting of public limited company is to be held.State the
provision of quorum for —

a)meeting of the company which has less than 1000 members

b) meeting of the company which has more than 5000 members

c) meeting of the company which has 2500 members

3. Mr. Rahul is the secretary who has been asked by the Managing Director to inform a director a
a decision taken in a board meeting in which he was absent. Which aspect ofessentials of a good
business letter he follows:

a) When he is giving the required information in a very short and brief manner

b) When he is using courteous words so as to be polite

¢) When he is giving the entire information about the meeting in a proper manner(Clarity,
conciseness, coherence, courtesy, completeness, correctness)

Q.3 Distinguish between the following.(Any 3)
1. Motion and Resolution.

2.Current Account and Savings Account
3.Shareholder’s Meeting and Board Meeting

4. Loan and Overdraft

Q.5. Answer in brief.(Any 2)

1. Explain powers and duties of chairman?

2. State the merits of written communication.

3. Explain the essentials of good business letter.

Q.6 Justify the following statements. (Any 2) (¢
1. Meeting must be duly convened and properly constituted.
2. Written communication is very effective.
3. The Board of Directors are the elected representatives of the shareholders.
4. The secretary should observe certain precautions while corresponding with the Banks,

Q.7 Attempt the following questions. (Any 2) (1
1. Draft a letter of Notice and Agenda of a Routine Board Meeting
2. Write a Letter for opening a current Account with the bank.
3. Write a letter to ROC seeking extension of time to hold the AGM.

N} ] Attemnt the follawing ansctinne {Anw 1) £
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IMPORTANT INSTRUCTIONS:
Each activity has to be answered in complete sentence/sentences. Answers written in only one
d will not be given complete credit. Only the correct activity number written in case of options

not be given any credit.
Web diagram, flow charts, tables etc. are to be presented exactly as they are with answers.

In point 2 above, only the words written without the presentation of activity format/design, will
be given credit. Use of colour pens/pencils etc. is not allowed. (Only blue/black pens are

wed.)
Multiple answers to the same activity will be treated as wrong and will not be given any credit.

Maintain the sequence of the Sections/Question Nos./Activities throughout the activity sheet.
SECTION-I: PROSE
Fading for Comprehension, Language Study, Summary and Mind-Mapping)

1. (A) Read the following extract and complete the activities given below: (12) [16]

i‘th an unwilling shrug he went back into the little dusty shed, which he had come to hate, and she
ked the door upon him. The footsteps drew nearer. They came slowly and heavily this time. For a
yment he thought they would pass also, but their momentary dulling was only the crossing of the strip
grass outside the door. The next minute there was a knock. It was not Tom, then.

Trembling with anxiety and curiosity, Peter Crouch put his eye to one of the numerous cracks in
door and looked through into the kitchen. He saw Mrs. Adis go to the cottage door, but before she
uld open it a man came in quickly and shut it behind him.

Crouch recognized Vidler, one of the keepers of Scotney Castle, and he felt his hands and feet
w leaden cold. They knew where he was then. They had followed him. They had guessed that he had
en refuge with Mrs. Adis. It was all up. He was not really hidden; there was no place for him to hide.
irectly they opened the inner door they would see him. Why couldn’t he think of things better? Why
n’t he cleverer at looking after himself - like other men? His legs suddenly refused to support him,

d he sat down on the pile of sacks.
The man in the kitchen seemed to have some difficulty in saying what he wanted to Mrs. Adis.

e stood before her silently twisting his cap.
_Given below are four statements find cut two incorrect statements, correct them and rewrite:

)

Tom knocked the door of Mrs. Adis.

Vidler was the owner of the Scotney Castle.
i. Crouch was watching everything through the cracks in the door.
_ Crouch with unwilling shrug went to hide in the dusty room.



A3. Complete the web and write down Peter Crouch’s emotions as he hid in the shed.

-

Peler
P— Crouch's

Emotions

Ad. Personal Résponse: i (2)
Give an example of a time when you felt guilty after doing something wrong. Explain why?

AS. Language study: 2
i) They had followed him. (Find out correct passive voice of the given statement from the options gi
below and rewrite it.)

a) Him had followed by them.

b) He had followed by them.

¢) He had been followed by them.

d) He has been followed by them. i

ii) A man came in quickly and shut the cottage door behind him. (Find out the simple sentence of
given statement from the given options and rewrite it.)
2) When a man came in quickly, he shut the cottage door behind him. .
b) Coming in quickly, the man shut the cottage door behind him.
¢) Asman came in quickly, he shut the cottage door behind him.
d) To shut the cottage door behind him the man come in quickly.

A6. Vocabulary: 2)
Fill in the blanks with appropriate words/phrases given in the box and rewrite the sentences,

(all up, refuge, leaden cold, looked after)

a) When we went on vacation, Rakesh ................... our dog for a week.

b) If some one tells fmy name to our class teacher, then it will be ................... For me.

¢) Ramesh was so afraid during the interrogation by the police that he felt that his feet gre

----------------------------------

d) The innocent people during the war have to take ......................._ in the camps.

(B) Non- textual Grammar: 4)

() Do as directed:

1) In India today we are making history. (Choose the correct option beginning with ‘history” from th
options given below and rewrite the sentence.) (1)

a) History is being made in India today.
b) History will be made in India today.

¢) History has been made in India today.
d) History should be made in India today.

2) We will not go on picnic unless the weather is fine, (Given below are options find out correct option

where ‘if.... not...." is used and rewrite the sentence) P
a) We will 06 on firntn 2 o soomoal .+ - .




) “Did you leave the dove cage unlocked?” I asked. (Change it in to indirect speech and rewrite the
:ntence)

) I asked that whether I had leave the dove cage unlocked.

) I asked that whether he had leave the dove cage unlocked.

) I asked whether/if he had left the dove cage unlocked.

) I asked whether/if he had left the dove cage unlocked?

[I) Spot the error/s in the given sentence and rewrite it. 1)
) She has introduced by the manager.

).2A. Read the following extract and complete the activities given below. (12)
Walking bare feet in the palatial Darbar Hall of Rashtrapati Bhavan, 125 —year —old Swami Sivanand
ived a standing ovation when he received the Padma Shri award from President Ram Nath Kovind on
nday. Before receiving the award, the yoga practitioner prostrated first before the Prime Minister and
| before the President, drawing another round of applause from the guest at the civil investiture
'mony.

Dedicating his life for human welfare, Swami Sivananda has been serving leprosy-affected people at
i for the past 50 years. His simplest ways of disciplined and well-regulated life with early morning
2a, oil-free boiled diet and selfless service to mankind in his own way have given him a disease-free and
sion —free long life. He demonstrates his life as an exemplary lesson rather than preaching.

3orn on § August 1896 in Sylhet district (now in Bangladesh) of undivided India, Swami Sivananda lost
mother at the age of six. Due to abject poverty, his beggar parents could feed him mainly boiled rice
r during his childhood days. After the funeral rites, he was brought to his Guruji’s Ashram at
adwip in West Bengal. His Guru brought him up, imparted all practical and spiritual education
ding yoga without school education.

He has been a positive thinker throughout his life.” The world is my home, its people are my fathers
mothers, to love and serve them is my religion’- this has been his belief. He is chasing that mission till
y to serve the underprivileged in different parts of the country. Swamiji has been serving 400-600
osy-affected beggars with dignity at Puri. He perceives them as living God and serves them with the
available items like food, fruits, clothes, winter garments, blankets, mosquito nets, cooking utensils
d on their expressed need,”

Swami Sivanand has received various awards including the Yoga Ratna award in 2019 at Bengaluru
the senior-most participant from the country at yoga demonstration on June 21, the World yoga Day in
9. (SOURCE: THE TIMES OF INDIA 21 ST MARCH 2022)

Questions:

Al, State whether the following sentences are true or false and rewrite it. (2)

i) On the occasion of the World Yoga Day 2019 Swami Sivanand was the oldest participant
from the country.

ii) Swami Sivanad has been serving Tuberculosis affected people from last fifty-five years.

iii)  Before receiving the Yoga Ratna Award, Swamiji prostrated first before the President of
India.

iv) Throughout his life Swami Sivanand has been a positive thinker.

A2. Give reasons and complete the given statements: 2)
(i)  Inchildhood Swamiji was fed with boiled rice water

(i)  Asa positive thinker Swamiji’s belief is

A3. “Swamiji has been treating people with dignity and serves them as living God” illustrate the
statement about Swamiji with the help of the extract. 2)

A4. Personal Response: 2)
1. Share your views on the importance of Yoga Practice in our day today busy life in this 21%

century. Write your answer in 50 words.

A5.DO AS DIRECTED: @

J ‘



¢) When does Swami Sivanand receive standing ovation?
d) When has Swami Sivanand received a standing ovation?

(i)  Swami Sivananda has been serving leprosy-affected people at Puri for the past 50 years.
(Choose correct tense form that has ‘Present Perfect Tense)

a) Swami Sivanand have served leprosy -affected people at Puri for the last 50 years.
b) Swami Sivanand has served leprosy -affected people at Puri for the last 50 years.

¢) Swami Sivanand will have served leprosy -affected people at Puri for the last 50 year
d) Swami Sivanand had served leprosy -affected people at Puri for the last 50 years.

A6. Yocabulary: 2)
(i) Match the words given in column A with their meanings in column B.
A B
1. prostrated a) existing in a low condition
2. investiture b) richly furnishing like palace
3. palatial ¢) Formal presentation
4, abject d) lying flat face down
B. Summary: (4)

Whrite a summary of the above extract with the help of the given points and suggest a suitable title.
Childhood days of Swami Sivanand — his belief — his accomplishments — social work of Swamiji

Q.2 C Mind-Mapping )
Develop a ‘Mind Mapping’ frame/design using your ideas/ thoughts/concepts to illustrate/de
en the topic: ‘Human Interests’.

SECTION I1 POETRY
Q.3A. Read the following extract carefully and do the activities given below: (10
Earth has not anything to show more fair:

Dull would he be of soul who could pass by
A sight so touching in its majesty:

This city now doth, like a garment, wear
The beauty of the morning; silent, bare,
Ships, towers, domes, theatres, and temples lie
Open unto the fields, and to the sky;

All bright and glittering in the smokeless air.
Never did sun more beautifully steep

In his first splendour, valley, rock, or hill;
Ne’er saw I, never felt, a calm, so deep!

The river glideth at his own sweet will:

Dear God! the very houses seem asleep;
And all that mighty heart is lying still!

Al. Find out the words and phrases which describes the following. One is done for you. 2)

1. Sight

Touching in its majesty

2. River

Sesbe8EIBOARBEBOORORD ecedsoBsTsRBOROAR S

3. House

4. Morning

5. Sun




). Personal Response: (2)
rite your experience when you felt revitalised in the company of Nature.

l. Poetic Device: 2)
ad out and explain the figure of speech in the following lin.

lever did sun more beautifully steep.”

5. Creativity: (2)
ompose at least 4 lines on your own city/town/village
: Appreciation: (5)

>ad the given extract and write an appreciation of the poem based on the following aspect.
» About the poem and significance of the title
» Form of the poem, theme and significance of the poem
> Poetic style, language features and poetic devices
» Message, value and morals reflected
» Your opinion about the poem

etween Nose and Eyes a strange contest arose, -
he spectacles set them unhappily wrong;
he point in dispute was, as all the world knows,

0 which the said spectacles ought to belong.
o Tongue was the lawyer, and argued the cause

Vith great deal of skill, and a wig full of learning;
Vhile Chief Baron Ear sat to balance the laws,

o famed for his talent in nicely discerning.
in behalf of the Nose it will quickly appear,

And your lordship,' he said, 'will undoubtedly find,
That the Nose has had spectacles always in wear,

ich amounts to possession time out of mind.’
hen holding the spectacles up to the court,
our lordship observes they are made with a straddle
s wide as the ridge of the Nose is; in short,
esigned to sit close to it, just like a saddle.

SECTION III- WRITING SKILL
.4 Complete the activities given below: (20)

. Drafting a virtual message (05)

ou are Gopal, a receptionist, in the office of a manufacturing garments. A sales manager Mr.
eshmukh visited and handed over the sales report to be submitted to the general manager who was
usy attending a meeting.
. Deshmukh: Hallow am here to submit the available sales report to General Manager.
Gopal: I am sorry but the General Manager is in meeting. Can you leave leave a message for him along
ith reports?
Mr. Deshmukh: Sorry, I have to leave immediately to collect the report. Please inform the General
Manager, that I had to leave immediately and I will see him in the evening at 5.30 p.m. with other

reports. Thank you.
As a receptionist draft a virtual message for the General Manager.

B: Framing Interview Questions: (05)
1. Imagine, you have to conduct an interview of a ‘Famous Personality from the Sports Field'. With

the help of the given table & points, draft questions on the given field associated with the sports
personality. (Do not change the sequence of the questions.)

AT i P il 2endnmvert ansrom T Hatinetahad novcanalitvy |



Questions

Questions Based on

Interest Development

Idols in Life

Early learning/training

Support

Schedule/Time Table

Recent achievements

Goals in Life

Destination

C: Email Writing; 0
You purchased a 42 inches smart T. V. four months ago from M. G. Electronics and Appliances. It i
working properly and also it doesn't have good sound and picture quality. The warranty period of

V is still valid. Draft an E- mail in about 100/120 words to the shop owner complaining abou:
problem.

D: Speech Writing: . ©
You are an active member of an NGO working for water conservation. Prepare a speech for the sc
children/students where you are invited on the eve of “World Environment Day’ to guide them 4
water-harvesting. Your speech should not exceed 120 words.

SECTION- 1V
(LITERARY GENRE- NOVEL)
Q.5 (A) Complete the activities given below as per instructions:
I) . Choose the correct alternative from the given options to complete the given statements: (03

i) By the nineties of the ................ century, the theatre in England was fully established.
16, 174, 18t 19th)

1R T R —— came back with the Restoration of 1660, the theatres were reopen
(Charles I, Charles IT, William Shakespeare, Queen Elizabeth)

iii) Mahabhasya by ................ provides a feasible date for the beginning of theatre in Indi
(Bharat Muni, Patanjali, Natya shastra, Thomas Osborne)

i. Match the meanings of the comedies in column ‘A’ with the type of comedies in column

(02
SR.NO | Column ‘A’ Column ‘B’
1 Plot a) to speak to oneself
2 Monologue b) the most important element of the drama
3 Characters ¢) the main idea or point of a play
4 Theme d) series of events occurring in a play
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)1) A) Select the correct option and rewrite the following sentence. (5m)
1) Business environment has tremendous impact on
a) business b)government c¢) society
2) is known as self-service store.
a)Departmental store b) Super market ¢) Multiple store,
3) Registration of partnership firm is in Maharashtra.
a) voluntary b) compulsory c¢) easy
4) In government company minimum % paid up capital is
held by government.
2)51% b) 49% c) 31
5) SSlare intensive.
d)money b)material ¢) labour
) B) Match the columns: (5m)
Column A Column B
Management as a A Taxation policy
profession
Legal Environment B Mining
Genetic Industry C Electric appliances
* Traditional Small Scale| D|  Creativity
business
NABARD E 1960
F Knowledge of law
G Formal education
H Handloom
I 1982
J Sericulture
)1) C) Give one word/phrase/term for the following statements: (5m)

1) A boundary less world where there would be free flow of goods, services, information, capital and
people across nation.

2) Life blood of business.

3) Buying and selling of goods against money or money’s worth.

4) An Organisation which is service oriented.

5) An autonomous corporate body created by the Special act of the parliament or state legislature.




Q2) Explain the Following Terms/ Concepts: (Any 4) ’ (8
1) Non-economic Activity
2) Hawkers.
3) Karta
4) Multinational Corporation.
5) Privatisation
6) Management.

Q3) Study the Following Case/Situation and Express Your Opinion: (Any 2) (6m,
1) Mr. Pranav is a tin manufacturer in India. Mr. Jack of England sells goods to M/s. Fre
Corporation in North America and Mr. Williams of USA buys various goods from Brazil.

i) Who is importer?
‘ ii) Who is manufacturer?
- iii) Who is exporter?

2) The court passes an order to ban polythene bags as the bags are creating many environmental p.
which affects the life of people in general. Society in general is more concerned about quality of li
government decided to give subsidy to jute industry to promote this business.

i) Why does the court ban Polythene bags?
ii) Identify the dimension of business environment.
iii) How does the Government try to promote jute industry?

3) Mr Sawant a Chartered Accountant by profession and Mrs. Tambe, an Architect by profession
a firm namely ‘ST Firms’ in Nagpur.

1b Identify the form of business organisation in the above examples.
ii) What is the Profession of Mrs. Tambe?
iﬁi) What is the Profession of Mr, Sawant?

|
Q4) Distinguish between (Any 3) (12
1) Wholesaler and Retailer.
2) Employment and Profession.
3) Top level management and Lower level management.
4) Private Limited Company and Public Limited Company.
|

Q35) Answer in brief: (Any 2) (8m)
1) Explain the Features of Management.

2) Explain the Merits of Departmental Organisation.
3) State any four Auxiliaries to Trade.

Q6) Justify the following statements: (Any 2) (8m)
1) External factors of business environment are beyond control
2) There is no scope for bargaining in one price shop.

;3) SIDBI provides different types of financial and non-financial services through its subsidiari
4) There is direct control of government on Departmental Organisation.

Q'}) Attempt the following :( Any 2) (10m)
1) Political environment.
2) Management as an Art.
3) State the different types of Partners.
|

QQ) Answer the following: (Any 1) (8m)
1) Define Sole Trading Concern. Explain features of Sole Trading Concern.
' OR
2) Explain the steps in setting up of a Small Scale Business.
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leiQ.1 A) Choose the correct option 05)
T1) NITI Aayog established in the year.
.a) 1950 b) 2015
¢) 2010 d) 1947

Options: 1) onlya  2)only b 3)a,and b 4)a,band ¢

2) Survival rate is difference between
ija) birth rate and birth rate
b) birth rate and Death rate
¢) birth rate and survival rate
d) death rate and mortality rate
Options: 1)onlyb  2) only a 3)a,and b 4)a,band ¢

3) Educated unemployment is an example of

a) Rural unemployment b) Urban unemployment

¢) Disguised. unemployment d) seasonal unemployment
Options: 1)onlya  2) only ¢ 3)only b 4)a,band c

4) Transfer of ownership from public sector to private sector .

a) Globalisation b) Liberalisation

¢) Privatisation. d) Demonetisation _

Options: 1) onlya  2) only ¢ 3)a,and b 4)a,band ¢

5) Poverty is universal in nature.

a) Relative b) Absolute

¢) Rural d) Urban

Options: I)onlya  2)only b 3)a,and b 4)a,bandc

B) Give an economics term. (05)
I) Situation in which all available resources are used in efficient manner .

II) Concept of poverty that covers material and non-material dimensions.

IIT) Selling public sector units to private sector.

IV) Conscious and deliberate choice of economic priorities by some public authority.

v) Abolishment of the permission of Government for new industry production etc.

C) Find the odd word out : (05)
I) Encouragement to exports:

EXIM , SEZ, AEZ ,FERA

IT) Structure of NITI Aayog:

National Development Council , Governing Counci , Regional Council ,Union Council
| I1I) Indian companies into foreign collaboration :




-_—

D) Complete the correlation :
I) Indian Oil Corporation: Navratnas :: Central Public Sector Enterprises :
IT) Prime Minister: Chairperson :: Members of Union Council of Minister:
IIT) National Health Mission : Health :: Sarva Shiksha Abhiyan

IV) Material dimension : No access to safe drinking water : : discrimi
Social

V) : Waste of resources :: Social effect: Loss of hy
dignity,

Q.2(A) Identify and explain the concept from the given illustrations: {ANY THREE}
(1) For certain period of time china has adopted the policy of one child per family

(2) To facilitate research in robotic technology, Japan has invested Rs. 1000 crores in India.

(3) Use of technology in the printing industry has led to unemployment among several workers,
(4) Dhanajirao is a wealthy landlord, but his annual income is relatively less in comparison to
entrepreneur Raobahadur.

(5) Foreign investments are encouraged on a large scale in the industrial sector of India.

(B) Distinguish Between: (ANY THREE)
(1) Birth Rate and Death Rate

(2) Relative Poverty and Absolute Poverty
(3) Planning Commission and NITI Aayog
(4) Privatisation and Globalisation

(5) Unemployment and Underemployment.

Q.3. Answer the following questions: (ANY THREE)
(1) Explain the trends in population growth,

(2) Explain the structure of NITI Aayog.

(3) Measures of Liberalisation.

(4) Explain the types of rural unemployment,

(5) Write the different types of Poverty.

Q.4. State with reasons whether you agree of disagree with the following statements:
(ANY THREE)

(1) Year 1921 is also known as year of great divide.

(2) Functions of planning commission has been transferred to NITI Aayog.

(3) Government has given private enterprises free access to public sector.

(4) Frictional unemployment is permanent by nature,

(5) Regional imbalance is the only causes of poverty.

Q.5) Q.5) study the following table, figure , passage and answer the questions given below it
(ANY TWO) (
A )Read the given passage and answer the questions,

A development is one of the thrust areas of administration. As Mahatma Gandhij rightly said,
lives in villages and the development of the nation cannot be achieved without the development
villages". The need of the hour is the convergence of all development interventions, at the gr
level which can be possible through effective governance at the village level. The movement to
decentralization of the National and State governments through the Panchayati Raj system needs
strengthened through lessons learned from the successful stories of 'Model villages' around
Though India is progressing in the right direction in reducing education inequalities and inc
literacy levels, there is still a lot that needs to be done. An understanding of social issues is impo
effective planning and policy development. Self-governance ensures that Indian citizens, ev
previously marginalized, can participate in decision-making,

Pt -



A) Observe the given table and answer the questions:

¢ Year Population (in crores )

1951 36.1

1961 43.9
i 1971 54.8

1981 68.3

1991 84.6

2001 102.7

2011 121.02
) Which year has highest population ? (H
1) Find out the year, which has lowest population ? (nH
lit) Find an average population for year 1961, 1971 and 1981. 2
B) Observe the given diagram and answer the following questions : (04)
Rural unemployment Urban unemployment

I) Which kind of unemployment is found if person seems to work but his marginal productivity is

zero . 83
IT) A worker is thrown out of job because of computerisation. Name this type of unemployment? (1)
IIT) Sharad was forced to return back to India from Japan due to depression in Information

Technology sector. (1)
1V) Which kind of unemployment is arises if Ram become unemployed due to shortage of raw

material . M
6 Answer in detail . ( ANY TWQ). (16)

) What is Economic Planning? Explain the features of Economic Planning
T) What do you mean by Liberalisation ? Explain the measures taken for Liberalisation

IT) Explain the measures taken by government to eradicate poverty .

ok ol she obe sl ol e ol e ol oo ok ok
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\ ) J
Q.1 Attempt all of the following sub-questions: (20)
(A) Select the correct option and rewrite the statements: (5)

1. Discount received is transferred to credit side of account.

a. Trading b. Profit & Loss c. Current d. Capital

o

The commission paid to the agent should be debited to
Drawing A/c b. Cash A/c c¢. Commission A/c d. Agent A/c

o

3. Bank balance as per pass book means balance of Pass Book.
a. Closing b.debit c.opening d. Credit

4. Decrease in the value of fixed assets is known as

a. Depreciation b. Appreciation c. Combination d. None of these

5. The Capital balances are ascertained by preparing

a. Statement of Affairs b. Cash Account c¢. Drawings Account d. Debtors Account
(B) State whether the following statements are TRUE or FALSE. )

1. Ledger is a book of Original Entry.

2. Depreciation need not be charged when business is making losses.

3. Debit Balance of Profit & Loss A/c shows net profit.

4. GST paid on purchase of goods Input Tax A/c should be debited.

5. Cash Book records transactions relating to receipt and payments of Cash.

(C) Find the odd one out. (5)

1. Freehold Property, Delivery Van, Loose tools, Goodwill

2. Printing & Stationery, Royalty, Audit Fees, Bank Charges

3. Diminishing Balance Method, Reducing Balance Method, Fixed Installment Method,
Written Down Value Method

4. Single Entry System, Double Entry System, Indian System, Foreign System

5. Error of Mistake, Error of commission, Error of Omission, Error of Principles

(D) Complete the following table. 5)

1. Cash Purchases + CreditPurchase - Trade Discount = Net Purchases

el O o e
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3. Opening Stock + Purchases - Sales = Gross Profit
4. Computer as on Depreciation Written down value
Ason1.4.2021 - @5% p.a. = ason31.03.2022

icsizcun [ e

5. Journal :
2 D Bt

Q.2 Journalise the following transactions in the books of Anamika Stores for the month of

November,2022. (10)
2022
November
Started business with Cash 30,000, Bank %50,000 and Furniture 220,000,
4. Purchased goods of 60,000 at 10% T.D. & 10% C.D. to Vasudev and amount
paid by cheque.
6 Sold goods to Janaki Traders worth %80,000.

10 Goods distributed as free samples £10,000.

15. Amount received from Janaki Traders 40,000,

25 Purchased an Office Equipment from Radha Electronics worth %2,00,000 @18%
GST and paid by RTGS.

30 Paid Salary 220,000 to Sudama.

OR
Q.2 Enter the following transactions in the books of Madhuram Traders in Purchase Book,
Book, Purchase Return Book and Sales Return Book for the month of March, 2022. (1
2022
March

1. Purchased goods from Shreeji Traders %1,00,000 @10%T.D.

5 Invoiced goods to Ambika Stores %80,000.

10 Murlidhar Traders sold goods of 60,000 to us @5% T.D.

15. Sent a debit note to Shreeji Traders 10,000 (Gross)

20. Bought goods from Shree Ram Traders 30,000 Less 10% T.D. Invoice No.41
25, Ambika Stores returned goods of 4,000 (Net).

27. Sold goods on credit to Maya Stores 240,000 @5% T.D.

30. Purchased Computer for office use 30,000 from Sunrise Electronics on credit.

Q.3 Prepare necessary Ledger Accounts in the books of Aravali Traders from the follo

information and Balance the same. (10)
Balances as on 1% April, 2022

Debit Balance Amount (%) Credit Balance Amount (%)

Cash 30,000 Ganga 15,000

Journal of Aravali Traders

Date Particulars L.F. ’ Debit Credit
| Amount ¥ Amount X

2022 ’
April




20 Cash A/c Dr. 35,000

To Sales A/c 35,000
25 Cash A/c Dr. 40,000

To Yamuna’s A/c 40,000
30 Ganga’s A/c Dr. 65,000

To Cash A/c 65,000

Total 2,50,000 2,50,000
OR
3 Record the following transactions in Cash Book of M/s. Abhimanyu Traders and balance for

» month of August, 2022 (10)
2022

igust 1. Cash in hand %20,000 and Bank Balance %5,000.
3. Received from Arjun Traders cash 15,500 & 14,500 by cheque and cheque was
deposited into bank.
6. Paid to Nakul 10,000 by cheque.
12. Cash sales %16,000 and discount allowed X500.
18. Purchased Machinery worth ¥25,000 amount paid by RTGS.
24, Cheque issued on 6th August to Nakul returned dishonoured.
28. Cash deposited into bank %6,000.
31. Under standing instructions, bank paid insurance premium %9,000.

4 Prepare Analytical Petty Cash Book from the following transactions in the books of
ahalakshmi Stores. The imprest amount is X4,000 reccived from main cashier on 1%t December,
22, (8)
2022
scember
2. Purchased a box file X50.
6. Paid petrol bill of Tempo X100.
8. Paid taxi fare X150.
10. Paid cleaning charges %200.
14. Paid courier charges X250.
16. Paid to Durga %300.
20. Gave Donation X350.
22, Purchased rubber stamp, envelopes and Xerox charges X400.
24, Purchased postal stamps & envelopes 450.
26. Paid lunch bill to travelling salesman X500.
| 28. Paid carriage & cartoons charges X550.
30. Purchased chair of 600.

OR
.4 Rectify the Following errors in the books of Shakuntala & Sons. (8)
Goods purchased from Urmila for 24,000 wrongly credited to Sharmila’s account.

Wages paid for construction of Building was wrongly debited to wages account X28,000.
Advertisement Expenses %32,000 paid to Mumbai Mirror was not recorded in the books of

accounts.
Credit purchase of goods from Shivay %36,000 were recorded as X38,000.

).5 On 30th June,2022 bank balance as per Cash Book was %20,000. From the following details
epare Bank Reconciliation Statement in the books of Mr. Narayan. 8)
Cheque issued but not presented for Payment before 30th, June,2022 amounted to X8,000.
Interest on overdraft 5,000 did not appear in Cash Book.
Cheques amounting to 25,000 deposited into Bank but only a cheque of 10,000 was collected by
bank before 30th. June.2022.
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Q.5 Mr. Surya is a cloth merchant. He maintains accounting record with single e
following figures are taken from his record,

Particulars 31.3.2021 () 31.3.2022 (%)
Building 25,000 30,000
Sundry Debtors 10,000 20,000
Stock 15,000 25,000
Sundry Creditors 20,000 15,000
Bank Overdraft 4,000 8,000
Cash Balance 5,000 10,000
Bills Receivable 9,000 13,000

Additional Information :

1. Mr. Surya spent 220,000 from his business for his daughter’s marriage.
2. Depreciate Building by %3,000.

3. Provide Interest on Capital at 10% p.a. and interest on drawings %100,
4. Write off Bad debts X1,500.

Q.6 M/s. Kaveri Steels, Mumbai bought Motor Car worth %1,00,000 on 1%t April,2019. The
depreciation at 10% p.a. on Straight Line Method.

On 31% March, 2022 they sold Motor Car for X75,000 which was purchased on 1% April, 2019
the same day they purchased additional Motor Car for 50,000,

Show Motor Car A/c and Depreciation A/c for the year 2019-20, 2020-21 & 2021-22 assumi
the financial year closes on 31° March every year. 12)

Q.7 From the following Trial Balance of Himalaya Traders, prepare Trading Account and
& Loss Account for the year ended 31 March, 2022 and Balance Sheet as on 31% March,

(12)
Trial Balance as on 31% March, 2022
Debit Balances Amount Credit Balances - | Amount
® ®

Stock (1.4.2021) 15,500 | Capital Account 60,000

Purchases 40,000 | Sales 50,000

Carriage 3,500 | Sundry Creditors 4,500

Salary 2,500 Outstanding Rent 1,000

Sundry Debtors 21,500 | Loan 6,000
| Premises 30,000
-| Bad debts 500
Bank Balance 6,000
Drawings 2,000

1,21,500 1,21,500

Adjustments :

1. Stock as on 31 March,2022 %25,000.

2, Depreciate Premises @10%.

3. Uninsured goods worth 5,000 destroyed by fire.
4. Outstanding Salary 1,500




